2 Aprl, 2028
BNl Q3 ()

Revww  Clar 3 |

Prove ook

Obw@ ‘M

lems= Xy

| €N €x dln

= ) Dam

d<X 1€m < Xy

(n=md)
= L3l
d<X 'SmSX/o(

0

e

T(2) = '"1/4

of WSk

o1

>

5> L o= 2L+ o(wr)



"




Q3 (b)

'Ewludm
cp(n) B
Z n - n&d{‘
Jens>* lén._ dl [
n),__n }A(d)
.7 T lii’wj e T
I<4<X 1€meX] = hn TT(I- )
(h: md ' Flh
(d) 1
>y
[€d< X | €« m <X/
= pa N +om>
7 X2 ( (%)
[<d<Xx
(&) ‘
A B{\T ( logx — leyd +o )
1< A=x o) )
= (lyx ) MOT'L + O(Z “T‘ﬁ(z‘")
|ed < X  lSd=sx




™3

B
<\

TN18

|

>
———r
e

<

S

—

> -

=

x

PO

o

-\ =

\

()

\i

\




Aln) = TT a Prove "le- ol (n) = N
€a €n
Obserrt M Ca)n)=>)
l&J &(n) = Z l&:ja
|€a<n
(@,n)=|
T Cam) =k, a2 pd =
H | ’ k" [
TR NP P
|€ag€n ﬂ('(am)
= b)) by e

dln 1cagn

dla

= Z MM\ Loy (bd)
I€<b < h/

din

O

)

)

Whew le =)
e k> 1,

o' = bd



\

Z fald) Z
(b +0°J°Q

aln
1€b sn/y

a
D /A(\( lo;((ﬁ)')Jr A )@
I A & n
¢

dlin

Z ml%
2) ( leg@') + 4l
("))

Aln






. i @
Omene Thak T(n»gawww,
o b T (n%), | [ Gm)=l =  Tlam)?)=TIn)TW
\l) M(WT;M‘?'):)

2 T ) b ale wmukiphotue

aln
Sl A oheck (W)= T ) hld  whewerer
Yot J din . N = oh
=P
Bk . S
h
2o = 2 TG = 2 ()

0”?" {=0 {=o

G=p)

2. 3ne) + (h+0)

- O‘*"')L. = 3C|b"). v

Bj ww»axrhadﬁéj ) have 9(n) = ﬁf(d‘l). 0



by Mibis whersion , we  nfor ok
T = 2 M(vd) qcd)

dln D//

T¥(n) = Z {
4| n

Peovn Wk Srenn X %W Lﬂa-:, e has
Z 7)) = ZE')( o+ O(XV").

) Wik

| < h< X
PCﬁmm-4h$
> otwm s 2
| € nex lsngx drIn

-2 1

'Sds_x',‘- ]SM-‘-SX/d" ( ns= mdls









2 (p-1-1

rzo

2 (¢!

T-T j‘Lf

o

@

?.-‘{(P-n

= | - _ |=af”
= j - gt 1 =0 (ndp)
| == B |- g™

o |

oy jrsl (med p) (ALT)

wd  GF( (medp) wwa p>3.
3 (p-0)-)
a2 Z |

233 Cp-1)- '{(r:ﬂ)

‘I

Co
L)
O

1 (p-1) ‘-l;(fi-l\ ‘-l._ (f-;i)
= (¥ )" 2 =) (wed ).
W’Vj ﬂ{cr,)i-—l (med p) il(P-S)




